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() 01. Which of the following statementsiis best?
|. The capability of aprocessisrelated to the product specification limits.

I1. Quality does not depend on the process used.

I11. Defects can only be produced by a shift in the mean.

60

(A) I'and Il only aretrue (B) | and 111 only aretrue (C) 11 and 111 only are true (D) none of the aboveistrue.

() 02. Which of the following strategies has the shortest delivery lead time and the least customer input?

(A) make-to-order (B) make-to-order (C) assemble-to-order (D) engineer-to-order.

() 03. Which of the following is/are primary activities of manufacturing planning and control? |I. Production planning. I1. Implementation

and contral. I11. Inventory management.

(A) Iand Il only (B) 1l and I11 only (C) | and I11 only (D) al the above are primary activities.

() 04. Which of the following statements is true concerning benchmarking ?

(A) it seeks improvement by analysing internal process (B) it studies only organizations in the same industry (C) it studies the “best

in class’ organizations (D) it is a process for determining performance measures for the shop floor.

() 05. Under which of the following conditions is acceptance sampling appropriate? (A) testing of the product is destructive (B) time is

available for 100% inspection (C) the sample can be taken from the top of the batch (D) the batch to be sampled is small.

( ) 0e6. (contral limits) I I (A)
I Il (© I Il (D)
( )o7. (A)OC (B) OC
(D) OC
( )o08. (Final Assembly Schedule)
2526|271 2829|3031 |32|33| 3H#
90 | 70 | 60 | 80 | 90 | 100|120 130|150| 150
160|220 | 300|390 | 490 | 610 | 740 | 890 | 1040
(component), : 1000
? (A)26 (B)27 (C)28 (D)29
( )09
1 2 3
300 | 200 | 150 | 150
(A)150 (B)1.0 (C)0.75 (D)0.25
( )10. =100
Queue Time( ) | Run Time( ) | Setup Time( )
10 1 0.1 2
20 2 0.1 2
30 2 05 5
40 2 0.3 2
50 2 0.4 1
(A)30 (B)28 (C)23 (D)20
( )1 ATP ( = B0; =50)
Week 1712|3415
Order 201 20 | 15| 30 | 10
MPS 50

| 1 (B)



ATP

(A) ATP=10 (B) ATP=30 (C) ATP=5 (D) ATP=10
( )12 (master schedule) ?

l.

Il.

II.

(A) m- @1 1 @©r w oL, 1

13 14
a| b C

Run time 12| 8 | 15| 3 5
Due date 10 | 21 | 19| 17 | 23

( )13 (mean flow time)

(A) e-b-c-d-a (B) c-ab-ed (C) d-e-b-a-c (D) e-d-b-a-c
( )14 EDD (mean flow time)

(A)196 (B)276 (C)43 (D)18

( )15. MRP

(A) BOM (B) © (D)
( )16 MRP

(A) (B) ©) (D)
( )17. MRP CRP

(A) MRP (B) MRP (C) MRP (D)
( )18 JT

(A) (B) ©) (D)
( ) 219 EOQ 100 10

50

(A)50 (B)75 (C)100 (D) 150
( )20. (Two Bin System)

l.

Il.

[I.

(A) | (B) 1l (C) I (D)

( 2 40 )

() 01. A critical ratio (CR) of 0.95 means which of the following? (A) Job is ahead of schedule by 5%  (B) Job is ahead of schedule by
95% (C) Job isbehind of scheduleby 5% (D) Job is behind of schedule by 95%

() 02. Which of the following is used to convert the master production schedule into detail requirements? (A) Production planning (B)
Rough-cut production planning (C) Production activity control (D) Material requirements planning

() 03. If the old backlog was 200 units, the forecast for the next period is 500 units, and production for the next period is 600 units, what
will be the backlog at the end of the next period? (A) 100 units (B) 200 units (C) 300 units (D) 700 units.

() 04. Available-to-Promiseis (A) Safety stock for preferred customers (B) The amount of the forecast which is consumed by orders (C)
Expedited and re-promised customer orders (D) The uncommitted portion of inventory or production

() 05. (available time)x(utilization) x(efficiency) is called: (A) effectiveness (B) useful capacity (C) demonstrated capacity (D)

rated capacity
( )O06. 0.03 10 ()
(A) 0.9445 (B) 0.9545 (C) 0.9655 (D) 0.9755
( )or. (quality function development, QFD) (A) (B)
© (D)
( )o0s. AQL 1% (A) 1% (B)
1% (C) 1% (D) 1%

() 09.TQM (A) QCC (B) QFD (C) SPC (D) CAPP



( )10.
(©) (D)
( )1 (input) (output)
(A) (B) © (D)
()12 (A)
(D)
( )13 (production plan) (A)
requirements plan) (C)
( )14 l.
(C) 1. 111, (D). 1.
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()18 (A)
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